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Sitting Arrangement 
 

Q1. Six friends are sitting in a circle and playing cards. Kenny is to the left of Danny. Michael is in between 

Bobby and Johny. Roger is in between Kenny and Bobby. Who is sit ting to the right of Michael? 

(a) Danny 

(b) Johny 

(c) Kenny 

(d) Bobby 

 

Q2. Four girls (G₁, G₂, G₃, G₄) and three boys (B₁, B₂, B₃) are to sit for a dinner such that neither two boys 

should sit together neither two girls. If they are successively sitting, what is the position of B₂ and G₃? 

(a) 3rd and 4th 

(b) 4th and 5th 

(c) 5th and 6th 

(d) 2nd and 3rd 

 

Q3. In a circular arrangement of 3 boys (B₁, B  and B₃) and three girls (G₁, G₂ and G₃) sitting for a dinner 

successively, what will be the position of G₃ and B₃, if no two girls sit together? 

(a) 4th and 5th 

(b) 5th and 6th 

(c) 3rd and 4th 

(d) 3rd and 6th 

 

Q4. A group of friends are sit ting in an arrangement one each at the corner of an octagon. All are facing 

the centre. Mahima is sitting diagonally opposite Rama, who is on Sushma’s right. Ravi is next to Sushma 

and opposite Girdhar, who is on Chandra’s left. Savitri is not on Mahima’s right but opposite Shalini. Who 

is on Shalini’s right? 

(a) Ravi 

(b) Mahima 

(c) Girdhar 

(d) Rama 

 

Q5. A, B, C, D, E, F and G are sitting in line facing the East. C is immediate right of D. B is at an extreme end 

and has E as his neighbour. G is between E and F. D is sitting third from the South end. Who are the per 

sons sitting at the extreme ends? 

(a) A and E 

(b) A and B 

(c) F and B 

(d) C and D 

 

http://adda247.com/defence
http://www.sscadda.com/
http://www.bankersadda.com/
http://www.adda247.com/


2 adda247.com/defence    |    www.sscadda.com    |    www.bankersadda.com    |    www.adda247.com 

 

Q6. Of the six member of a panel sitting in a row X is to the left of Q but on the right of P. Y is on the right 

of Q but is on the left of Z, Z is to the left of R. Find the members who are at the extreme. 

(a) QZ 

(b) ZX 

(c) PR 

(d) QY 

 

Q7. Four girls and four boys are sitting in a square facing the centre. They are sitting one each at the 

corners and one each at the mid-points of the sides of the square. Madhu is sitting diagonally opposite to 

Usha who is to Geeta’s right. Roy is next to Geeta and opposite to Gopi who is on Bose’s left. Suma is not 

on Madhu’s right but opposite to Prema. Who is opposite to Bose? 

(a) Geeta 

(b) Prema 

(c) Suma 

(d) Madhu 

 

Q8. Six boys are sitting in a row. Jose and Manu are sitting adjacent to Raju. Uday has Gopi and Ram as his 

adjacents. Gopi is not next to either Jose or Manu. Ram is not sitting next to Manu. Who are/is sitting 

adjacent to Jose? 

(a) Raju and Uday 

(b) Raju and Manu 

(c) Raju and Ram 

(d) Only Raju 

 

Q9. In a panel of five members sitting in a circle facing in ward. A is in the middle of B and E. D is to the 

right of E and left of C. Find the position of B in the panel. 

(a) Immediate left of A and E 

(b) Immediate left of D 

(c) Immediate right of A 

(d) Immediate right of C 

 

Q10. Five students are sitting in a row. S is on the right of L. P is on the left of L but is on the right of K. S is 

on the left of Q. The first student in the row from the left is 

(a) K 

(b) L 

(c) P 

(d) S 
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Solutions 
 

S1. Ans.(d) 

Sol. According to the question, 

 
Hence, Bobby is sitting to the right of Michael. 

 

S2. Ans.(b) 

Sol. According to the question, 

Sitting arrangement of boys and girls is as follows : 

 
Hence, the position of B₂ and G₃ is 4th and 5th, respectively. 

 

S3. Ans.(b) 

Sol. Sitting arrangement of boys and girls can be of types. 

 
But in both positions B₃ and G₃ will sit at the end i.e., 5th and 6th place. Hence, option (2) will right 

answer. 

 

S4. Ans.(a) 

Sol. According to the question, 

 
Hence, Ravi sits on Shalini’s right. 
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S5. Ans.(b) 

Sol. According to the question, 

 
Hence, persons B and A are sitting at the extreme ends. 

 

S6. Ans.(c) 

Sol. According to the question, Sitting arrangement is as follows: 

 
Hence, members P and R are sitting at the extreme ends of row. 

 

S7. Ans.(a) 

Sol. According to the question, Sitting arrangement is as follows : 

 
Hence, Geeta is opposite to Bose. 

 

S8. Ans.(d) 

Sol. According to the question, Sitting arrangement is as follows : 

 
Hence, only Raju is sitting adjacent to Jose. 

 

S9. Ans.(a) 

Sol. According to the question, Sitting arrangement is as follows: 

 
Hence, B sits left of A in the panel. 
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S10. Ans.(a) 

Sol. According to the question, Sitting arrangement of students is as follows: 

 
Hence, the first student in the row from the left is K. 
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